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Reasoning Mega Quiz for RRB NTPC

Q1. ‘Artist’ is related to ‘painting’ in the same way as ‘Senator’ is related to
oy e & & @etaT § Sy diaee R & defia g2

(a) Attorney / 3Tet<T

(b) Law / &1

(c) Politician / Trst=i{ars

(d) Constituents/ §=e=

Q2. What number should fill the blank?
e ot FeAT Rw e & wRi?
8,43,11,41,____ ,39,17

(a)8

(b) 14

(c) 43

(d) 44

Q3. Which one replace the question mark?

F & g1t oy e iy aioertu 62
5 6 8 7 ? 4 4 3 s
7 4| 9 6 8‘ 9 7 z: 5
(a) 115

(b) 130

(c) 135

(d) 140
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conclusions are given. Taking the given statements to be true
even if they seem to be at variance from commonly known facts, 100 + TOTAL TESTS
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Statements:/ FI:

I. Some actors are singers./ T STHATT T 2.

I1. All the singers are dancers./S¥T T 7 2.
Conclusions:/ fAs=:

1. Some actors are dancer./ F® THAAT TdF 2.

2. No singer is actor./ &g TT3F ATHAAT A5l 5.

(a) Only (1) follows/Fae (1) SATHLIT FaT &.

(b) Only (2) follows/aw (2) ATEHLIT FAT &.

(c) Both (1) and (2) follow/(1) 3T (2) IAT ATHLIT FaAT 2.
(d) Neither (1) nor (2) follow/T T (1) T & (2) THLIT FaT &.

Q5. If A + B means A is the mother of B; A - B means A is the brother of B; A % B means A is the
father of B and A x B means A is the sister of B, which of the following shows that P is the maternal
uncle of Q?

IRA+BFTAIEA BH AT A-BFT o A, B FT ATS &; A% B FT o1 § A, BFT fUqT & T A x B 7 30f
& A, BFt 987 g, = & & &9 &1 gefia<or P, Q T /AT I90TaT 872

(@A)Q-N+MxP

(b)P+SxN-Q

(c)P-M+NxQ

(dQ-S%P

Directions (6-6): P, Q, R, S, T, U, Vand W are sitting round the circle and are facing the centre.
1. P is second to the right of T who is the neighbour of R and V.

2. S is not the neighbour of P.

3. Vis the neighbour of U.

4. Q is not between S and W. W is not between U and S.

P,Q R,S, T, U, V3T W =¥ H 9 § 3T g i < @ < L@l 5

1. P, T % ITfe & TAYT & ST R ST V &1 9STHT 2

2. S, P &1 9T Aal 8l

3.V, U &7 92T &

4.QSAXTWH A2l gl W, USfT SF = gl ¢

Q6. Which two of the following are not neighbours?
fFRufafad & @ 97 9 & =afe gt 781 82

(a) RV

(b)uVv

(c)RP

(d) QW
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Q7. Select a figure from amongst the answer figures which will JEEFFSFREEIEN
c_ontlnue the same series as established by the five problem STAGE-II
figures.

S S F T A TH AHST 949 S I THET & Ahgi g eAraa
Ft 1 sf@rer % qHE &7 & I8 @ RRB JE PRIME

Problem Figures:

SR o KR 7 ELECTRICAL

CNC_N) JY CIE: €
ojacjecjieJdiey 30+ TOTAL TESTS
(A) (B) (C) (D) (E)

Answer Figures: Valldlty : 2 Months
W v (W W v

C C|IC C|C C|C DD C

AC NI ICCILOE | DD

(1) (2) 3) () (5
(a)1
(b) 2

()5
(d) 3

Q8. Choose the word which is different from the rest.
I ST T AT e, ST JT(HAT & AAT g

(a) Kanpur/&TaqZ

(b) Allahabad / ETgTdT

(¢) Varanasi/aTeroret

(d) Mathura//Z1

Q9.Y is in the East of X which is in the north of Z. If P is in the south of Z, then in which direction of
Y, is P?

YV, XFqEHESTZFSACH I AR P, ZH IfQqor & g, a9 Y Y fr feerr &, P R?

(a) North/3<¥

(b) South/aferoT

(c) South-East/Zferor-43

(d) None of these/Z7H & &I Aal

Directions (10-10): In given question consists two statements numbered I and II given below it.
You have to decide whether the data provided in the statements are sufficient to answer the
question. Read both the statements and Give answer.

R 1T wor & = & F9 1807 11 iU 1T ) et I8 qF HAT T o6 w9 # AW 1 327 v 1 IqC e &
forT wata § a1 981 Q91 w1 A 98 R S

Statements:/ FI:

I. Rahul at present is 25 years younger to his mother. / FqqTT & g AT JT | 25 AT e g

IL. Rahul’s brother, who was born in 1964, is 35 years younger to his mother./ g T WTs, ST 1964 ¥ IaT
TAT AT, T /T T 35 AT ieT &
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Q10. In which year was Rahul born?

TG &1 10 farer a9 & gar oar?

(a) Statement I alone is sufficient while II alone is not sufficient./ FI= I 3el TATH g Tk [ FTFAT TATH
SEI

(b) Statement II alone is sufficient while I alone is not sufficient./ &7 || 3TheT TATH g STaTeh | SRAT TATH
SEI

(c) Neither I nor Il is sufficient./ arisics €r 1937 %

(d) Both I and II are sufficient./| 3T || T TATH 2.

Q11. Find the relationship as expressed in given pair
Ru 1T W # =< FohT T "9y Y AT A
11:120::15:?

(a) 165

(b) 224

(c) 225

(d) 168

Q12. In the following question, select the odd letters from the given alternatives.
Faferfee v ¥, Ry o Qe 3 & o g 1 57397 3

(a) AV

(b) BY

(@9JQ

(d) MN

Q13. If the word PLATE is written as 32876 and BLEND is written as 52694. How is DENTED
written in that code ?

gfe ars3 PLATE &I 32876 % &9 # for@m SmaT § it BLEND &I 52694 % &9 | for@r siar €. ar S+t e

wTST & DENTED 3 9= feram Sram?
(a) 869768
(b) 295329
(c) 538635
(d) 469764

Q14. Select the missing number from the given series.
2 AT JEAT H F AT GEAT T AT AL,
1,4,13,40,121,?

(a) 284

(b) 286

(c) 364

(d) 396
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Q15. What will replace the question mark ?

o RreE &t STg FIe |1 e Arw?
63 64 245

7 121 4 |16 5] 7

(a) 35
(b) 45
(c) 30
(d) 40

Q16. Pointing to a woman, Ramesh said, “Her granddaughter is the only daughter of my brother.”
How is the woman related to Ramesh ?

T Afgar Y ST IART FLA §C THA 7 FHigl, "STeht I e WX ATE A THardl 9t 1" afgar W & fFa
TR HETq 872

(a) Sister/agd

(b) Mother/at

(c) Grandmother/iigHax

(d) Mother-in-law/qaZ-3-ot

Q17. Ajay remember that Vijay’s birthday is after 25t December. Ajay’s wife remember that
Vijay’s birthday is after 23rd Dec but before 27t December. On which date is Vijay’s Birthday?

5T Fr A1 g 6 s 1 swfa 25 fREa= F are g1 97 it at & a2 § & o &1 s 23 fReax
¥ 918 § At 27 egax & ugon fRsmr 1 s v ard it @2

(a) 23

(b) 24

(c) 26

(d) 25

Q18. Which of the following Venn diagram shows best relationship among car, Motorcycle,
Automobiles.

% & F #1797 3 @ T, MEETE e, AT & S gy ST=ag1 gae AT 87
(a)

@ TEST SERIES —
(b) STAGE-II

(©) RRB JE PRIME

CS&IT

OO0
O

Validity : 2 Months
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Q19. Which of the following words cannot be formed by using the letters of the word
I 75 T FIT L. (O AT 1T 951 o &AL T START Flah TS @1 (6T AT GhalT B
“EDUCATIONAL".

(a) NATIONAL

(b) NEAT

(c) DEAN

(d) LION

Q20. In following question some statements followed by some conclusions are given. Taking the
given statements to be true even if they seem to be at variance from commonly known facts, read
all the conclusions and then decide which of the given conclusion logically follows the given
statements.

= T ™ w1 ¥, 38 Fuw ke v § s = Aeed iR g 8. stroedr fRw 1@ veei Y 9 99T § Wt St
q ga=Ta Al & Oyt gia gl T s et #@r § & aft oo @ [t & & #3197 91 R e
FIAT T AT HLAT &.

Statements: All guitar are violin. All violins are piano.

FI: G Fer araferm 81 T+t amfom g §

Conclusion: / Ay

1. All piano are violin. /At fo=m=T aTafem &

2. All the guitar are piano. /At e fogm=T 8

(a) Only conclusion (1) follow/ae At | SITHEL FLAT &

(b) Only conclusion (2) follows/Fae fAtHT 2 SATHIT FIAT &

(c) Both (1) and (2) follow/feFt 1 3% 2 FHT ATHLT FAT 5

(d) Neither (1) nor (2) follow/T @T 1 ST T &I 2 SATALI FLAT &

Q21. Find the relationship as expressed in given pair.

e 1T 7w § =< e i aqrg

Arrive : Depart:: Dark:?
AR TEATA:: STE:?

(a) Light /9=RTer

(b) Soft / =& H

(c) Gloom / I&TEY

(d) Stop / T

Q22. In the following question, select the odd word from the given alternatives.
Fraferaa wr ¥, Ru o Reeat § 9 R asx @ 0 999 F:3

(a) Turtle / =hegstr

(b) Crocodile/ HITTH=,

(c) Frog/ He#®

(d) Lizard/ fegaerett
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Q23. If the word PORTER can be coded as MBNZQN. How can be [

gfe PORTER 215< %t MBNZQN ¥ &9 ¥ for@r ST ¥%at g1 REPORT

9 foraT sTEn?

(a) NQMNBZ RRB JE PRIME
(b) NBQMNZ

() NQMBNZ MECHAN'CAL
(d) NQMZNB 30+ TOTAL TESTS
Q24. One team is missing in the series. Find out the term. Validi ty : 2 Months

0T § T = oI =Tq g1 TW A1 Hife.
125,126, 124,127,123, ?

(a) 126

(b) 128

(c)123

(d) 129

Q25. Which will replace the question mark ?

FI9 Y gear w3 e F1 yfaentoa F6h?
2 6 10
1114 |4 51868 91 ? |12
3 7 11
(a) 333
(b) 222
(c) 666
(d) 999

Q26.1f 1812 = 3, 2a14 = -6 and 404 = 0, then find the value of 2a16 =?
Ife 1812 = 3, 2a14 = -6 3T 4a4 = 0 &, a7 2a16 = FT {IT AT HI1o1A?

(a)-7

(b) 8

(c) 10

(d)-1

Q27. In a certain code language, "SATURN" is written as "JVQXWW" and "URANUS" is written as
"OYJENY". How is "JUITER" written in that code language?

T AT fe 91T #, “SATURN” &1 “JVQXWW” 3R “URANUS” &I “OYJENY” for@T SITaT g1 39 & WiaT §
“JUITER” %7 39 foraT ST aaat 872

(a) NIPMQN

(b) NIPMYF

(c) NQMPIN

(d) FYLMPI
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Q28. In a certain code language, "CAGES" is written as "NADYB" and "SILVER" is written as
"LZRIGR". How is "WATER" written in that code language?

T AT Fz 9T A, “CAGES” #1 “NADYB” ¥ &9 % for@t irar § sfik “SILVER” # “LZRIGR” & &7 # forar
ST g1 59 he AT § “WATER” #Y & foram Smar 82

(a) MAQYV

(b) SGWEB

(c) QCPVR

(d) VYQAM

Q29. If "B" denotes "multiplied by", "C" denotes "subtracted from", "A" denotes "added to" and "D"
denotes "divided by", then which of the following equations true?

At B F T, “C” F T, A X ST A D7 R Sy wertan £, S e ¥ A v e gy &
(2)24D12B3A12=18

(b)36D6B3A2=74

(c)42A7B2D2=35

(d)56D14B2C4=12

Q30. Which of the following terms follows the trend of the given list?
fRaferfeT & & i ar a3 & 7 T i TR H 1 Sga<er Fara?
PQPPPPPQ, PPQPPPPQ, PPPQPPPQ, PPPPQPPQ, PPPPPQPQ,

(a) QPPPPPPQ

(b) PQPPPPPQ

(c) PPQPPPPQ

(d) PPPPPPQQ
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